Apartment in Valletta



Reference No: 240061159-294

Valletta, Valletta



€805,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): **80**

Bedrooms: 2

Apartment - For Sale - Valletta

VALLETTA – HIGHLY FURNISHED APARTMENT – This Apartment is located in the heart of Valletta close to all amenities. The property is on the second floor served with a Lift from ground floor, it consists of a hallway leading to a spacious open plan (kitchen/ living/ dining) with a balcony. Main Bedroom and Bathroom, one also finds a second double Bedroom with an en-suite and a utility room. This property is being sold freehold, Contact your preferred agent for more Info or Immediate Viewing!

Features

- ✓ Lift
- En Suite
- Marble Floor
- Electricity Utility
- Skirting
- Air Space

- Kitchen/Dinette
- Entrance Hall
- Water Utility
- A/C
- ✓ Wi-Fi
- Balcony

Rooms

Kitchen/Living/Dining: 4.84 x 5.61 m (27.15 m2)

Double Bedroom: 3.04 x 3.59 m (10.91 m2)

Double Bedroom: 3.34 x 4.84 m (16.17 m2)

✓ Box Room : 1.2 x 2.3 m (2.76 m2)

Hallway: 1.2 x 9.94 m (11.93 m2)

Bathroom : 2.04 x 2.3 m (4.69 m2)

Bathroom : 2 x 1.04 m (2.08 m2)

Open Space : 0.97 x 4.64 m (4.5 m2)

Gallery























Isaac Ben Daoud RE/MAX Superior - Fgura

M: 79845911

E: isaac@remax.com.mt

T: 23910000

RE/MAX Superior - Fgura 368,Zabbar Road, Fgura, Malta